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0 Introduction
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IRG N2730 is suggesting to disunify the following characters:

H (U+2335F, compatibility character encoded at U+2F980)
X (U+6B25)

Personally, I think there is no urgency or necessity to disunify the two characters at this time. This
is because:
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a. Academically, we don't know the rationale of the & (U+2335F) whose radical is moon( ) in
various dictionaries, and there are almost no use cases for this moon(H ) radical shape outside of
dictionaries. It is more likely that this moon( H ) radical shape is a corrupted form of other characters.
In this case, I think it's better to not disunify. Compared to disunification, it is easier if we change
the radical of & (U+2335F) to meat(/A)). But in fact, this is not necessary, either.
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any conflict or inconvenience. What's more, the radical of character #X (U+6B25) is lack (/X), so
the change of its left component won't change its radical. In this case, it is not necessary to disunify
them based solely on academic theory. The disunification may instead cause confusion and
inconvenience. The character #X (U+6B25) still has no V source reference, and I recommend
to BX (U+6B25).
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1 Detailed information
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1.1 § (U+2335F)

There are two main meanings of & (U+2335F) in different dictionaries:
A. A semantic variant of H (U+80AF).

B. Pronounced wé&i and means It (to vomit).
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The origin of Meaning A is very clear, and the radical of & with Meaning A is undoubtedly meat
(). But Meaning B is very confusing.
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The quoted text from 1EF%ifH says that this character is derived from the left component of %
(U+55C0). The explanation is reasonable. The text also says that /5 can be a stable error form of
B (U+8099), whose radical is also meat (1)).
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In summary, as a variant of 5 and B, H's radical is undoubtedly meat (A]). As a stable error
form of - 4-[F](i#%), which has another very commonly used variant I, it does not really matter
if the radical is meat (PA]) or moon (H). Instead of encoding the two similar shapes separately, it is
better and easier to just change the radical of & (U+2335F) to meat ([A]). Regarding the current

situation, there is no need to make any changes yet.
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1.2 B (U+6B25)

The radical of BX (U+6B25) in the code chart now is lack (/X), so the change of its left component

won't change its radical.
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Fig.2 Bk (U+6B25) in code chart

Meanwhile, it is easy to notice that there is still no V source reference for this character.
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There are three main meanings of [ [/FI’R] and [1H/R] in different dictionaries:
A. Used as a modal particle having Fl(U+66F0) as its semantic radical.

B. Pronounced yi and means &

C. Chit Nom. Means morning while having H (U+65ES5) as its semantic radical.
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There are quite a few use cases of Meaning A in different books, and the radical of BX (U+6B25)
with Meaning A should absolutely be I (U+66F0). But the use cases of Meaning B can hardly be
found outside of dictionaries, which makes Meaning B very suspicious. I think this may be the
reason why Meaning B was not included in 44 7“7 iL:
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Fig.3 BX (U+6B25)in Sk it

K1 T

Meanwhile, in other books, #X (U+6B25) is also used as a variant of "X (U+5439), and the left
component is clearly H (U+65ES5).
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Fig4 B (U+6B25) used as variants of MX(U+5439)


https://dict.variants.moe.edu.tw/search.jsp?ID=7&WTP=1&WORD=B01909&WORD=
https://dict.variants.moe.edu.tw/search.jsp?ID=7&WTP=1&WORD=B01909&WORD=

In summary, considering:

action has not caused any conflict or inconvenience.
C. The radical of character #X (U+6B25) is lack (/X), so the change of its left component won't
change its radical.
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